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Which of the following is the rank of India in the list of UN World Happiness Report

20217
(a) 139 (b) 141
(c) 149 d) 135

frefefad § @ FR gge T favd e {2021 B OHA H aRd w1
22

@ 139 (b) 141
() 149 (d) 135
?‘4,,7/)KU&;HV@]LJJ,S@»J&)JZOZ1:«u’_:/ \oJoﬁ‘(l}l
141 (b) a
135 . (d)

2. Blue revolution stands for:
(a) Progress in milk production
(b) Increase in fish production
(c) Increasein oilseeds Production
(d) None
et sifd

(a) 9 SERA H
(c) fTaered

e el
..Jl;l%JQ):.L‘f' (b) d?}“’kufﬂ:l&u(w» (a)
S et @ Sl ©

3. Who was the first female speaker of Loksabha?
(a) Meira Kumar (b) AnandiBen

(c) Kokila Ben (d)  Sumitra Mahajan
g F Teeh At T ¢
(a) HU H{AR (b) SR =7

(c) whifshen oA (d) gfHA HeTsH
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SE£T (b) Mz (@
g~ (d) ST ()
4. When was the first constitution of India was adopted by the Constituent Assembly?
(a)  15th August 1947 (b)  14th August 1947
(¢c) 26 November 1949 (d)  15th January 1950
IRA & Yoo WfauM =1 Sfaud 99 g wd SOAE T o?
(a) 15 e 1947 (b) 14 T 1947

(c) 26 Fa=R 1949 (d) 15 SHad 1950
YA Y%
1947=J114  (b)

195085715 - 949 2926  (c)

5. Which one of the following is the largest hig
(@) NH44 NH
() NH6 NH 7
frrefafaa o @ Tl TN 22
(a) NH44 NH 27
(©) (d) NH7 :
?é.al/;lﬁu{:_./JuL'})MJu[cuijgjﬂ
NH27 (b) NH44 (a)
NH7 . (d) NH6 (c)
6. Which one of the following is the shortest cropping season of India?
(a) Kharif (b) Zaid
(c) Rabi (d) Winter
frefafed § @ S 9RG & 999 Bl GEa-HEy 22
(a) @A® (b) &
(c) it (d) Srerad
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45 (b) -{J/U/ (a)
/Sy (D g, ()

7. Who said this while addressing the soldiers of "Azad Hind Fauj" "Give me blood and

[ will give you freedom™?
(a) Subhash ChandraBose (b) Mahatma Gandhi

(c) LalaLajpat Rai (d)  Yusuf Meherally

‘R e TS @ A W e @ gC e we ol AR o e @ A
TR e gm”’

(a) N =% S (b) T T

(c¢) dren dahd T (d) Ig&

"-fu»dﬂ)‘l’uﬁ?uﬁ»u:"é(’"tf'a/, Z : £‘./£6);MJUT

Sy () JizJe ()

LIJ&,.:’.UJU (C)

On August 20, 1942

(@)

(© (d)  All the above
qd foran ma1?

(a) (b) 20 3TTE 1942
(c) 8 3TT&E 1942 (d) =T | |+l

Sdsls S L F1iE sk
Noa=t0 ) 19421115 (@)
JE ety @) S 19428 (©)
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10.

Which one of the following mineral is known as "Black Gold"?

(a) Petroleum (b) Coal
(c) Natural gas (d) Chromium
frffed & @ fFg @ &1 Hen 99 8 S 82
(a) uiferan (b) I
(c) Wrabfas g (d) wifm
?.T,tt?ttgc,rt[."trug"angu/cufuf.ie/ﬂ
L ® o (2)

4@ 2570 ©

The United Kingdom (UK) formally ended its 47 years of membershipiwith the
European Union (EU) on January 31, 2020. Whichyone of the following term was

famous/used?
(a) Brexit (b) - Quit EU
(c) Brazen (d) Briftkmanship

@m%@ﬁmwﬁalmzozoﬁww@muaﬁm
wﬁmmmﬁlﬁmﬁffﬁéﬁﬁ@vmwmmmw
foan T en?

() (d) e

S50l JGéJ?@UQ(:{{/JV47@lXVLQf5QJ;’.:{ 2020882315 b

11.
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Which of the following is the incorrect sentence ?
(a) This is the man who we respect.

(b) Assoonaswe came, she had left the place.
(c) ifyou help me, I shall finish the work.

@ |1 write her hundreds of letters by now.




12.  Which of the following is exclamatory sentence?
(a) Whata nice book it is!
(b) Whata nonsence talk it is!

(c)  Oh!he got success.
(d) All of the above
13.  Which of the following is not an imperative sentence ?
(a) Remember to pick up the dry cleaning toady.
(b)  Tell me if I should go Hawaii or Alaska for my summer vacation.
(c) Leave the book on my table.
(d) You will be careful, won't you.
14.  Which option displays the correct change of the following to#feported speech?
Sunita asked Venkat, "How much is the rent for your flat?”

(a) Sunita asked Venkat how much was his rentfor flat:
(b)  Sunita asked Venkat how much the rent for his flat was.
(c)  Sunita enquires from Venkat that how/much renthe pays.
(d)  Sunita told Venkat how much the rent for his flat was:

15.  Which option displays the correct change of the followingto reported speech?
She said, "I told Daman to send youan e-mail three days ago."
(a)  She said that she had told Daman to send an e-mail to me three days before.
(b)  She says that she hagteld Daman to send me an e-mail three days then.
()  She informed methat Daman has mailed me three days before.
(d)  She told that Daman had mailedyou three days then.

16.  Select correct option teform grammatically correct sentences.

He asked me :

(a) thatWhere I was going  (b)  where lam going.

() wherediwas going.  (d) wherelamtogo
17. Men wok

(@) because they may earn a living.
(b)  so that they may earn a living.
(c) Hence they may earn a living.
(d) soasthey may earn a living.
18.  The hospital board clearly mentioned that you
a health hazard for all.

smoke in the hospital as it is

(@) cannot (b)  must not
() neednot (d) might not
19, There's never petrol left after Rahul uses the car.
(@ much (b) little
()  many (d) alittle
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20. Tam taking driving lessons now. Hopefully, I my driving test by November.
(a)  will take (b)  would pass
(c)  will have taken (d) will be taking

21.  The dog under the chair before the children arrived.
(a)  hasbeen hiding (b) washid
(¢)  have hid (d) hadhidden

22. The taxi driver spoke English. I couldn't understand him.
(a)  many (b) alittle
(c)  very little (d) some

23. 40% of the country support the new law.
(@) doesn't (b)  couldn't
(c) should (d) won't

24.  Excitement, as well as nervousness The cause of her jitterings.
(@) are (b) had
(© s (d) were

25.  Hetook side in the argument between two of his best friends and his two
brothers.
(@) every (b) either
(c)  neither (d) none
26-30 Direction
Read the passage given below:
What is discipline? Is it/@bsoliite freedom to do what a person wants? Is freedom
regardless of consequences? Does it mean corrective action after a problem occurs
or a wrong is dene?Is it impesition? Is it abuse? Does it take away freedom?
The answer is none of the above. Discipline does not mean that a person takes a belt
and beats up kids. That is madness. Discipline is loving firmness. It is direction. It is
prevention’ before a’problem arises. It is harnessing and channeling energy for a
great performance. Discipline is not something you do to yourself but you do for
those youeare about. |
Discipline is an act of love. sometimes, you have to be unkind to be kind. Not all
medicines are sweet, not all surgeries are painless, but we have to take them. We
need to learn from nature. We are all familiar with the big animal, the giraffe, A
female giraffe gives birth to a baby giraffe standing. All of a sudden, the baby falls on
the ground from t}-le cushion of its mother's womb and sits on the ground. The first
g thie mOt_herdg‘raffe does is get behind the baby and give it a hard kick. The baby
gets up but sits down again. The mother keeps kicking till the baby gets up on Its
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26.

27,

28.

29,

feet and starts moving, Why? Because she knows that the only chance of survival for
the baby in the jungle is to be on its feet. Otherwise, it will be eaten up by wild cats.
Children brought up in a loving yet disciplined environment end up respecting their
parents more and become law-abiding citizens. The reverse is just as true. Good
parents are not afraid of momentary dislike by children to enforce the subject.
Allowing a child to eat a box of chocolate could lead to sickness. At the same time,
the discipline of eating one or two pieces a day can be an enjoyable experience for a
longer time. Our instinct makes us do whatever we want regardless of
consequences. Freedom is not procured by the full enjoyment of what is desired but

by the controlling of desire.

On the basis of your understanding of the passage, answer the questions by choosing
the correct options:

What according to the writer is not disciplined?

(a) To provide absolute freedom to the children.
(b)  To have lovingly sterned behavior.

(¢) To allow children for disobedience.

(d) To follow prevention before problem.

How can channeling energy help?

(a) By providinggyour future.

(b) By preparing our future.

(c) By préparing us to face the difficult times efficiently.

(d) By preparing it forgreat scores

The phrase "law.abiding citizens" refers to the children who:

(a) Areloyal to the nation.

(b) _ Follow the rules led down for them.
(c) Have parents that were not moved by momentarily dislikes of their kids.

(d) Help in forming laws.

If not the family where else can we learn discipline from?
(a) The peoplearoundus - (b) The school where students study and learn

(c)  The nature (d) The giraffe

Code No. 5-13/ SET- C (9)
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32,

33.

34.

35.

What does the author mean when he says, ‘act of love™?

(a) Warm gesture

(b)  Agesture of love

(c)  Anintense emotion of affection.

(d) To hug one another.

Neither the teacher nor the students able to hear the announcement.
(@) were (b) was

(c) is (d) None of the above

The cost of all these articles risen.

(@) are (b) have

(c) shall (d) has

She said, "I went to the secret cave in the mountain." =

The indirect of the above sentence is ...........

(a)

(b)

(©)

(d)

She said that she went to the secret cave in the mountain.

She said that 1 had gone to the secret cave in the mountain.
She said that she had gone to the secret cave in the mountain.
She said that she hasgone to the sécret cave in the mountain.

I said to the old man, “Please explain your viewpoint in detail.”
The indirect of the above sentence is .............

(a)
(b)
(©)

(d)

[ requested the old man please explain your viewpoint in detail.
[ asked the old man to please explain his viewpoint in detail.

[ urged the old man to explain your viewpoint in detail.
Iréquested the old man to explain his viewpoint in detail.

The manager said to you, "Why didn't you attend the meeting yesterday?"

The indirect of the above sentence is

(a)

(b)
(©)

(d)

The manager enquired you why did not you attend the meeting the day
before.

The manager asked you why you did not attend the meeting the previous day.

The manager asked you why you had not attended the meeting the day
before.

The manager enquired you that why did he not attend the meeting yesterday:

Code No./S,-713i/ o o e~



36. A cylindrical conductor of length ' / ' and uniform area of cross section 'A’" has
resistance 'R'. The area of cross section of another conductor of same material and
same resistance but of length '2/" is :

A 34
(a) 5 (b) =
(c) 2A (d) 3A

% YR TEF TIHE T U GHA SR e H &AEA ATE Td Wi
R 2 A U Ud wOE YRRy A dfed 20 o & SE AeE ST Fe
F1 &% BI-

A
@ ®
(©) 2A (d) 3A

J,UJLﬁ S sty c Resl p,tAg/JJ«C w/‘IJ,LJJJ’ 12284
_Kﬁg/,ﬁdi?m/?w?c‘_'R':jt;mz]

4
34 (b) 2 (a)
2.
3A (D) 2A ()
37. Identify the circuit (Fig) ‘in which the electrical components have been properly
connected.
e — —
v @ @
—H ——(— -
> ' ~ ¥
R% %}* ), R% %5 )
(i) (iv)
@ i - (b) i
(©) i (d) - iv
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i (b)
iv (d)
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38.  In the circuit shown below:

Py 182
[ |
| 1

282 30

— "

The potential difference across the 3 Q resistor is:

@ 5

(c) 1v

fom <o wfEe 3-

-

(b) %V

(d) 2v

T <

s §. )

3Q

(b)

d 2v

N | =
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b b )

20 | IQ

ly (b) . lV (a)
2
v (d) 1v ()
39.  Theresistivity does not change if:
(a) the material is changed.
(b) the temperature is changed.
(c) the shape of the resi chang
(d) both material a ture are changed.
yforershar &Y
(a) =9
(b)
(c) S 21
(d) [ =F N 2
-/’Déu-"’ =’ ’78/.

bty ()
L esre s > (b)
“LbJa P Sen 7 ()

-L‘?@dg«;u;»aﬂ]quublr (d)
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40. Choose the correct option:
A rectangular coil of copper wires is rotated in a magnetic field. The direction of the

induced current changes once in each:

(a) Tworevolutions (b)  One revolution
(¢c) Halfrevolution (d)  One-fourth revolution
vl faeen =H-

d4 3 R B TF EAER FHUSeh F TAHE A § A @ 2 | o
feen v ¥ T IR IEEd 2

(a) R HOH (b) u& oA

(c) o ol (d) T e o

Jic'/JInduced current-‘at‘lggl.;uﬁ’ ar ; Sl et
i

4 UU.,.G Ly (a)

/.../-:GZ_)T/: (c)

41. Whatwill h r is placed inside the solenoid?

€)) uted resulting in short circuit.
(b) agnetized as long as there is currentin the circuit.
(c) Theba e magnetized permanently.

(d)  The bar will not be affected by any means.

uﬁqﬁqma%aﬁmaﬁaﬁaﬁ@sr@ﬁmaﬁwm?

(a) %W'W@WWWQ@WI

(b) @ 7o WRum § ¥ 2 99 6 T EH T

(¢) o Tl &Y @ Fafed & STl
 (d) wE faE oft qe @ wed e E
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Tl B S diGin Lty /S
WL KE A FLT re ke G
_({_J&b@/’:’cg_)ﬁfﬁ/.uﬁ-‘//fv% (b)
WngtEp A ©

tnf el AEEE @

42.  The back face of a circular ioop of wire found to be so agnetic pole. The
direction of current in this face of the circular loop of w
(a) towards south (b) clockwise
(c) anticlockwise (d)
R B TH JAHR U F o Feah 219X % ISR
% TH Fad | Ul Hi fem Bi-
(a) =faor &1 3R b) =f
(c) dmMHEd
Jus 2 N1 L : "Jf’wq,‘e.{uvué&;)m}biﬁ
Arerd
~§4 ® SAlen (a)
SAEJE @ er e §irdsd ©
43. An ionized gas contains both positive and negative ions. it is projected towards east

to a region having uniform magnetic field directed into the plane of paper, then
(a)  positive ions deflect towards north and negative ions deflect towards south.

(b)  positive ions deflect towards south and negative ions deflect towards north.
(c) allions deflect towards south.

(d) allions deflect towards north

_— /
Code No. 5-13/ SET-C (16)



@m%ﬁwwmﬁﬁ%w@ﬁﬁmmmmmw
a8 W w9 o e e s @ A

(a) AT IR H 3R T HORA o w1 A feifud @ 2

(b) ®T 3w # 3R wE womE I H R At B ¥

(c) |ft oA fawr =Y oin faefim 2 2

(d) mﬂwwaﬁaﬁwﬁmﬁam%

P B S AL LI LSS ol nefTuind st tu 76T
'/?‘auu.fu’ib o UL A LIS =3

Ly rede 2 T8 bS8 )

Ly Al FiE Al e (b)

LR T (0

LyredJedTet )
44. A child is standing in front'of a magie mirror. She finds the image of her head bigger,
the middle portion of her body of the same size and that of the legs smaller. The
following is the order of ¢ombinations for the magic mirror from the top.

(a) Planejconvexand concave
(b) Convex,concave and plane
(c) Concave, plane and convex
(d) Convex,plane and concave

TH d=dt WigE <9U @ GEe @ Bl g A i w wfafam R e Wi
e WA F1 G STHR H R W & yfafas # S udt @) W 9 39 WGl
for & GASH w1 HA B |

(a) oo g1, SHa YT 3R SEdd JU

(b) ue <du, Y UV TE WHAA U

(c) srema <dur, goael JGU1 T I U

(d) e gdur, THae YU WA SEae <49

Code No.S-13/ SET- C 17)
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t'glf!‘?}’."é‘Kf:/;l/.l/f:c?&.l(uéK:lki(/%lub%l%/&v&&:l d»b,g_,g

e UL F e pl-c

iz () sttt ()
sttt (d) _g s ()

45. The angle between an incident ray and the plane mirror is 30° The total angle

between the incident ray and reflected ray will be:

(@) 30° (b)  60°
(©) 120° (d) 90°
i fReor wE WA <00 & s o B 309 EL Amiad fEr T wEtdd o
& 9 & H/A B B-
(@) 30° (b) “60°
() 120° (d) 90°
&5t 916G L SO 1 EIENE e 30° Lo 9 sE2 s 25T L
60°  (b) 30°  (a)
90° (d) 120°  (c)

46. Two thin lenses of power 3D and -2D are placed in contact, then power and focal
length of the lens combination is:

(a) & +2D, +100 cm (b) +1D, + 100 cm
(c) +5D,+20cm (d) +1D,-100 m

Q) vdel o, [t Wi 3D TE -2D B, TR weE N @ W ) 39 o9 §aed
&1 et T i =R 2

(@) +2D,+100cm (b) 41D, + 100 cm
(¢ +5D,+20cm (d +1D,-100m

_Jﬁéwj}ﬂ'cf}.tfa"/""Lﬁ);wZéjuﬁ&U/&)’:.J»LUBDAI—2D;>;
+1D,+100cm  (b)

. +2D,+100cm  (a)
+1D,-100cm  (d)

+5D,+20cm  (c)




47.

Code No. 5-13/ SET- C + (19)

The refractive indices of some media are given below:

Medium Refractive index
X 1.51
Y 1.72
Z 1.83
w 2.42

In which of these is the speed of light minimum and maximum, respectively.

(@) X-minimum, W-maximum
(b) Z-minimum, W-maximum
(¢) W-minimum, X-maximum
(d) X-minimum, Z-maximum

%9 Al $ qadis +e Ky T €

Hqiegy K LCREICD
X 1.51
Y 1.72
z. 1.83
2.4

7 o mﬁ 1Yl i TId HE: L
(a) X-gAaH, W-3ifashad
(c) W-=Iiad, X-3ifashad

=1
"
1.83
2.42

-wég;i,uwdwéu)ﬁ/
l(}lbﬂl s

W

*‘4.»(./;—.//:!KGJW/LJVJJJ’/JJKGJ“U'
JWDJLJC—U/J)'U"X[C—J (a)

uﬁ'WuL_Jc__./uluﬁZ[c.q (b)
J:Xo).t_)c,q/;lu.‘.’w#/c_q (c)
u.‘.ZuL)c_inqu//c_.,f (d)




48.  The eye defect represented by the figure is:

nyd

.
g > { ..
.

Zo N 5.

e

|
N

‘\
/ Retina
7

Eanaye s
lens S P
e SR
(a) Myopia (b) Hypermetropia
(c) Cataract (d) Presbyopia

T * arHfa gR wEE gieR o

V'Y
&8
™

(b)
) SfestE

N
r

Concave
lens

LA ()

ks ()
49.
boundary:
(a) Isrefracted towards the normal
(b) Isrefracted away from the normal
(c) Goes along the boundary
(d) Isnotrefracted

ina

e dA A E W

Retina

L @
Ly (0

Light travelling from a denser medium to a rarer medium along a normal to the

Code No. 513/ SET-C (20)



god meAd d faid mem | A woe % w3 arell Y-
(a) = FH AR Auafdd gidl 2|

(b) &= ¥ L ATEfid &l

(c) T = =Wy w2

(d) smafda T g

-(fuéﬁ&lgn’b&gjﬁ@p_/J:J:;ch_k)..@;g

_‘Q(}lgﬁdlb}l_j)’ A ()

(b)
c)
L (d)
50. A convex lens has a focal length of 10 cm. wing position should
an object be placed so that this convex lens m

(é) 15 cm 7 cm

() 20cm _ 25¢

T# I9¢ AF Pl BIHd 2| freht og &l Frefafed o 9 fee A W
@ WA =rfeq difh e o & ®Y § H H Fh?

(a) 15cm - 7cm

(¢ 20

““/{"gf(ufgj_’.}gjﬂ-‘&- 10 chUJ(;’Ju”-‘-‘_,i.{l
&S sE B T

7cm  (b) 15cm  (a)

Stz bt

25cm  (d) . 20cm (o)
51 Electrolysis of water is decOmpolsition'reaction. The mole ratio of hydrogen and
oxygen gases liberated during electrolysis of water is:
(@ 11 (b) 2:1
(© 41 (d) 12
Code No. 513/ SET- C 21)




Sl F Y SUed W SIS RRA ¥1 WA @ SR T W OTHE Emgi

TS SIS T 1 Hie 3T §h-
(@ 1:1 (b) 2:1
() 41 (d) 12

L)’”defr'Alu’u,vLLl:L:_Jy(}/LGL_LJU&{J'/’J'Vd/(d\v

52.

Code No. $-13/ SET-C

_{r../lf
21 (b) 111 (a)
122 - (d) 4:1 (¢)

Which of the following statements about the given rea
3Fe(s)+4H,0(g) > Fes0,(5)+4H,(g)
(i)  Iron metal is getting oxidized.
(i)  Water is getting reduced

(iii) Water is acting as reducing agent

(iv) Water is acting as agent

(@ () (ii) and (i ~ (iif) and (iv)
(© (@), i) (i) and (iv)
R HE ¥ IR o wd -

4(5)+4H2(g)
ST g3 2|

(ii) <1 &1 TS0 §3IN B |

(ili) A IR P T Fd 9 @}

(iv) aammaﬁmmmm%u

@ (i) Gii) @ (iii) () (i) w (iv)

© (@, (i) @) @) (i) w (iy)

(22)




Ut ndge i et dits kS L
3Fe(s)+4H,0(8) > Fes0,(s)+4H,(g)

e bl d )

e dndAddL G

et PSS A Gid)
PSSR (V)

(iv)(ii)  (b) GialGi), (D) @)
(V)G (d) GG, (D ()
53. Which of the following gases can be used for storage of fresh sample of an oil for a

long time?

(@) Carbon dioxide or oxygen
(b) Nitrogen or oxygen

(c) Carbon dioxide or hellum
(d) Helium or nitrogen

Wﬁﬁ@ﬁﬁﬂ?ﬁﬁﬁﬁ%ﬁ@ﬁ%ﬁﬂﬁﬂfﬁf@ﬁﬁ@m%m
I fefan S TRl &7
(a) A SE SRS Al SfiedlsH
(b) TRESH Al
(c) wad ek sfiedrzs 1 feeftm
(d) fecham A ARSH
P ¢ Jer A s et dsnl Lo Fs b pUpfi Al K
F TSk ()
Cﬁ:/l’.t.uﬁ;/‘/l? (b)
Ay Tk (©

S (@
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54,

An aqueous solution turns red litmus solution blue. Excess addition of which of the
following solution would reverse the change?

(@)  Baking powder (b) Lime

(¢) Hydrochloric acid (d) Ammonium hydroxide solution

UF el faoe e faemm @ s| w Aten # a8 fFEfatEd d 8 feg
facrm #t sifusar 39 wfads & 3o 32

(a) @ g (b) =

(c) TR Ffe tfuae (d) ﬁmnmsmﬁgmﬂ\ﬂ

TNV PN PR ISP IR P Iaks ) AT

59.

Code No. S-13/ SET-C Pt

?Lfé.)_b{,
LaSFuk () | il (a)
Jﬁt{;jtﬂu}ggflr! (d) L':;f (c)

If a few drops of a concentrated acid accidentally spills over the hand of a student,
what should be done?

(a) Wash thediand with saline solution

(b) Wash the hand immediately with plenty of water and apply a paste of sodium
hydrogen carbonate.

(c) / Afterwashingwith plenty of water apply solution of sodium hydroxide on the
hand .

(d)  Neutralise the acid with a strong alkali.

o AT S T 7D A N O F e o ¢,
S =TeT?

(a) Hod (T96-UH) | 71

(b) T TR T Tl o e wvdgiom wraie e o
(d) voa &R ¥ 3 i I3 %




56.

57.

- =m?
(a) 9T AR
(¢) @™ |eE

<:4tgc/”u;u:’g,/’¢_ﬁ»;£,;-,;~.@.@;LH‘,JW%
LAl @)
..u:,@-’»:-’..ﬁ:«ji/%ﬁu}ﬂﬁruluff’:il,w;Gguﬁ/lﬁfé( (b)
SOIF TG o L ps A QL 36 ()

IS b (D)

Which of the following substance will not give carbon dioxi treatment with
dilute acid? |

(@) Marble (b) Limestone

(c) Bakingsoda (d) Lime

frafafed & @ sF-w1 v g st @ =8 Afeage e

sk (@

lfrUbLlﬂ( ()

or making cooking utensils. Which of the following properties of

esponsible for the same?

Alumi

aluminiu

(i)  Good thermal conductivity

(ii)  Good electrical conductivity

(iii) Ductility

(iv) High melting point

@) (i) andii (b) (i) and (iii)
(c)  (ii) and (iii) (d) (i) and (iv)
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o mmmwﬁa}aﬁqaﬁfimm%l%%ﬁ
frerfafen 4 @ @ @ wwm 2

(i) ==t o1 =rereen

(i) T=5t o <roraa

() =

(d) =9 Temis

(@) (i) @ (i) (b) (i) wE (iii)
(© (i) @ (i) (d @ (iv)

LJ’MGJUIC_J:J,}.?JPJﬁ:r)}.’-‘éc'ﬂdw”U:' :

b 22165, (i)

d/_./?Jt' (iii)

T RSN G (iv)

Gil)s(D)  (b) Gui(D)  (a)

(V)G (q)

d by using different methods. Which of ¢

Gi)usiGi) (o)

58. Meta re he following metals are

refined b ctrolytic refining?

(i) Au (i) Cu

(i) Na (iv) K

(@) (i) and (ii) (b) (i) and (iii)
(©) (i) and (iif) () (i) and (iv)
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Lﬁ‘é{/gﬁf’ﬂ’&V}JUI:_&J}QJF_%_V%&(JVLU;‘H) .

2%

Which of the follow

u@aﬁmvﬁmﬁfwﬁmﬁmmm%lﬁmﬁa@ﬁﬁq—ﬁrm

SR A B ufteRd S @2
(i) Au (i) Cu
(iii) Na (iv) K
(@) ()W (ii) (b) (i)W (i)
(©) (i) b (iii) (d) (i) T (iv)]

¢

“Cu G
K Gv) Na (iii)
G ® OO
(d) GiDasGi) ()

nd Z. X loses electron and Y gains electron.

Reacting between X

shown by Z?

(d) |
x@v%ﬁaaﬁﬁm@ﬁmzm%lxmﬁm%ﬁvﬁmﬁm
w1 ) 2 Frefefen # | S o Rkl T S

(a) 3= T

(b) fr=1 oA l®

(c) Tfera sreen H fagga e

‘Occurs

. (d) rica i o)
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2t P By g b X e B e SO Ly
W b e 5ok

Esemsl K m314 L o)

cnf 6=l ()

S0t Sl (o)

S ANC)

60. compound? These:

@ () (i) -

()T (iij

9 WY @ (i) w gy
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?c‘_w»iL,‘csg@/b,»b(wgt/u/cﬁjs.?/p
_q_mfmgmﬁ’: (i)

cen AL ¥ G

-%Gnghyﬁf&fj sl Ly Gii)
_:‘.Bnu.?;:,}Lx””Jugd.VALLVLUl (iv)

GG - (o) Gii ) 41G) . (a)
(V)G (d) i) ©Cc)
61. ldentify the unsaturated compounds from the following:
(i) Propane (ii) Propene .
(iii) Propyne (iv) Chloropfopane
(@) (i) and (iii) (b) " (ii) and (iv)
(©  (iii) and (iv) ~ (d) (i) and (iD)
frtfiafia § @ srdgwalfics 1 eaR, FRT-
(i) WA (i) W=
Giii) o (iv) R
(a) (i) & (i) (b) . (ii) @ (iv)
(c) (i) @l Liv) (d) (i) @@ (ii)

-%/U%JJ/M’P/;,'K_ J:uti,.?/xf

(Propene)fsy (i) (Propane) ¢f14 (i)
(Chioropropane)fss4s¥  Gv) (Propyne)ef/ s (i)
| (VG () Gi G ()

G (@) ivslGid) - ()
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62. Which of the following does not belong to the same homologous serjes?
@ cH, (b)  GA,
(C) C4H8 (d) C3H8
Frefafen & @ i o & v gaen @ wam @ 2
(@ cn, (b)  CH
(©  c,Hg (d)  CH,
e U0 P S o ST SIS
C,He  (b) CH, (a)
e, CHg  (c)

63.  Which of the following gives the ¢

ti order of the atomic radij of 0,F

and N?

@ O,FN (b)

(¢ FON (d

frafafes & 9 Naﬁaﬁmﬁmaﬁ‘ﬂvémmm%m%?
(@ OF

(b) NFo0

(c) F, (d OoN,F
el J(Atomic Radii)$ 4,21 N 10, FUS e S50
| NFO (b O,F,N (a)
O) Na F (d) F’ O, N (C)

64.  Which of the following elements vy form an acigjc oxide?

(@) Anelement with atomj humber 7
(b)  Anelement with atomj Number 3
()  Anelement with atopje number 12
(d)  Aneclement with atomic numper 19
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65.

66.

rfafEd § ¥ HE qd TH ST AFEES FAm?
(a) T HE&A 7 A T
(b) U] HEA 3 Srel e
(c) TUEHM] §E&Al 12 Jfell d
(b) TV HE&AT 19 TTedl A

Ofi_l/,b’w'dl/:/ VU}KLUﬁJng»’-’

Which of the following set of elements is written i r of their increasing metallic

character?

(a) Be, Mg Ca

aLLE

(c) MgAlLSi

frafafed o 9 uri‘c—cm afE & A ¥ foman T ®?
(a) Be (b) Na, Li, K

(C) (d CON

/u/dtm_r&/Luu/vufz_uv;z,»é/’
Na,Li, K  (b) Be,Mg,Ca (a)
C,0,N (d) Mg, AL Si  (c)

Which of the following products are not formed during respiration, if oxygen is not
available in living organisms.

(a) Lactic acid + Energy

(b) Carbon dioxide + Water

(c) Carbon dioxide + Alcohol

(d) Lactic acid + Alcohol
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MR T oo v A @ A freeten § A BT e g,
T T 2

(a) dfes tfge + wt

(b) W = smagre + W@

(c) 1 =i srgree + arcwled

(b) s fge + swiea

P I L Plels= 5. e S psir I s T UL /]
9+ AN LD (y)

s

ATk (o)
S d (g)

67.  Glomerular filtrate is fi
(a) Distal convo
(b)  Proximal

(©

P sl & o i) ok
U.I{L,?:’fdb%/ (b) u’l_}',y)ﬂ/dlw) (a)

TIL& (d) Jrd 2y ()

(32) —
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68.

69.

70.
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J( (b)
¢t @
" In woody stems, respiration takes place thro
(a) Stomata

Translocation of solutes primarily takes place through

(a) Phloem (b) Cortex
(x) Xylem (d) Pith
ﬁmmmg@mﬁ_’%mmﬁmﬁl
(a) UeAEH (b) i
(c) e (b) fr=
-c;.dr;‘uL ---------- /J?U)VGK/JNJJ’V

(c) Lenticels Guard ¢

ST oA B YaEd

(d)

(a) wWHA A (e
(c) Y SR IR
DAY PRI e lngH
e ® i (a)
U sl (@ Kk ©
Which hormone is not found in plants?
(a) Gibberellin (b) Auxin
(c)  Cytokinin (d)  Glucagon
N F FyE g € g S 82
(a) foaifem (b) AR
(c) wEAfEE (d) TR




P bLUT L UngUr ALy S

o (®) P2 (a)

z 4/ iy 174
o @ JEL (o)
71. which nerves transmit impulses from the central nervous system towards ce|js,
(@)  Sensory nerves (b)  Motor nerves
(©) Relay nerves (d) Cranial nerves
R A S A T Y A W e w1 e S 2
(a) w3 dfra (b) e e
() e (d) el <
'L IS SR e B S st f
sty (b) 15" (a)
el fs S (@) —lesid (o)
72.. Which of the following is.the eorrect Sequence of events of sexual reproduction ina
flower?
(@)  Pollination;Fertilization Seedling, Embryo
(b) sSeedling, Embryo, Fertilization, Pollination
(c) Pollination, Fe.rtilization, Embryo, Seedling
(d)~"Embryo, Seedling, Pollination, Fertilization
TH e H AT S R vy Frfafes o
N ¥ e v w3
(a) 'WTUT, ’ W; EUT
(b) Y, YO, P, wapoy
(c) W, Fe, g, sigm
(d) ¥, KL, WO, fiie
Code No. S-13/ SET-C T



te il SN A e Bipir
LA @
S g2 St )
ﬁuf?‘dwhf/,; (c)
Sl 23 Fra

73.  Which of the following sexually transmitted diseases is not cau teria?
(a) Syphilis (b) Hepatitis
(c) Chlamydiasis (d) Gonorrhoea
frfefag § @ @@ 49 g ﬂn
(a) fowfea®

(c) FommEfemtad .

dJVJ”Jufc-u*J:»w
. 57 (a)
y (@@ J st (©

o several cells during reproduction in Plasmodium is

74. The abili
called?
(a) Buddin (b) Binary fission
(c) Multiple fission (d) Reduction division
mﬁmﬁamﬁmﬁmaﬁ%ﬁaﬁﬁmaﬁﬁﬁqﬁazﬁaﬁm
H ____ wed 2
(a) ¥HeH (b) fe@wed
(c) wefoesa (d) =g faursA
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e Serbo§ins” ufUz“;&(J&v.f'uu,,Ly;u:g;,,
SEAL ) o
Ui ks (@) S (o

A pure tall plant can be identified from hybrid tall plant.

(@) By measuring the length of the plant
(b) By spraying gibberellins

b
:
75.

()  Ifall plants are dwarf after self-pollination

(d) Ifall plants are tall after self-pollination

TR T N D TH T o N w vew e o
(a) WY # ww=E TUER
(b) faifera = foswm =@

(c) af% @R & = w9y A g
(d) ﬂﬁwma}aﬁwﬁﬁ%}a%%

5/1?/&,&;910/4:{ (a)
L5626t 2 ()
LA L sde sy i (O
un,i»zéf/g;;’ggra/: @

76. Ina food chain usually the following are foung at the third trophic level:

(a) Primary consumer (b)

Decomposer
() Producer (d) Secondary consumer
ﬁmﬁrﬁaﬁaﬁammﬁwzwmwwmmg)
(a) wfird SusiERT (b)  stayes
(c) TTH (d)  foftoer sqvipee
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°+Bbég4gélﬂdﬂ41)rkUJ(LJ:J‘)C/)gﬂ/f/Jlﬁ

LULIKLI}‘ (b) el (a)
Sl (@) Lisi Saii ()
77.  ldentify the gas which causes ozone layer depletion.
(g) Chloroflurocarbons (b) Hydrogen sulphide
(c) Methane (d) All of these
< g F e X S SN WA @ &R @ RO S 2
(a) EREAR e (b) TTEESH HTHES
(c) A (d) ¥ & @
?%@%KJJJL{UJMKQ;@I&;JJ{/J'
S Gk P00 M (b) cﬂ/(u)ﬁu){ (a)

&g @ Tl O

78. The observable set of characteristics of an organism is called:

(a) Genes (b) Phenotype
(c) DNA (d) Character
Wﬁa%wﬁﬂmﬁﬁmmmﬁmm%
(a) < (b) AR
(c) DNA (d) =f@
-c"_lt'lgl,‘v(/(&:‘)iyfwlﬁ‘gfﬁ'L:«_U/;J/ling(
s (o) 2 (@
| M) @ | NeIds (c)
7S.  Which of the following is the best way for disposal of vegetable and fruit peels?
(a) Landfill (b) Recycling
(c) Composting (d) Burning o

e ——————————

e
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m@maﬁmﬁwmmmmﬁqnn%g

(a) disfra (b) T
(c) @R T (d) eI
?‘L(,ufcuﬁdjejp,‘i};}dﬂ{KL/JF/gjl@LU"{AIU!E.
A (b) S
(e (d) Lluu/)ﬁ:{ (c)
80.  Which of the following pairs of brain part ction are not Corregy
mathched?
(@) Cerebrum-memory and intellige
(b)  Pons-consciousness
(c) Cerebellum- balancing &
(d) Medulla- involuntary actions
ED SIE # ¥ W e fem T 2
g
Ut

C/"J)Ju'LU‘J”LJ‘}?LU}(LU:J.}?/;)Lupééb

&‘51}'&:'})& - Cerebmm (a)

s - Pons (b)

WilYsezy = Cerebellum (¢)

db//ﬁj}bl/‘-’; ~ Medulla (d)
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gl. If (m)" =32 where m and n are positive integers; then the value of n™ is:

@ 32 (b) 25
(C) 510 . (d) 525
7 (m) =32 & mTE n AR QiR €, @4 B L
(@ 32 (b) 25
(C) 510 (d) 525
-¢".J,3 J ™ St A=dnsimy
25 (b)
5% (d) (c)

82. Ifthe zeores of the quadratic polynomial ax” equal, then:

(a) cand ahave opposite sign

:}'ug/,lf,}‘.[' ax’ +bx +c, ¢ # Oobl/&»»/l

ek fena ()
—erle i L baic (b)
e le($LI s anlc (c)
Sk LIS bl (D)
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83. Seven times a two-digit number is equal to four times the number Obtdlned by

reversing the order of its digit. If the difference between the digits is 3, then y,

number is:
(a) 36 (b)y 33
() 66 (d) none of these

@'ﬁaﬁﬁmmmmmwémﬁmmm%mw
* TR B AR Sl @ o= w1 iR 3, @ wew ani-
(a) 36 (b) 33

(c) 66 | (d) ¥ & % &
Uit g dn L1 RGP S b

Lo lE AL
C‘-3J/.(UVJJ£

36 (a)
66 (c)
84. = 0, then the value of x _ y equals:
) b-ua
b’ +a
LG ax - by =0, q X -y Em'qﬁg}m_
B by
d +4q
-l(nﬂzﬁ.;,}‘ ;
o »J ‘yJQX‘by=0’J,‘bx+ay=a2+b2/’
e () a-b (a)
b +a’ (d) a—p (o)
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in triangle ABC and DEF, /B = ZE,ZF = ZCand AB =3DE. Then the two
triangles are:

(a) congruent but not similar

(b) similar but not congruent

(c) neither congruent nor similar

(d) congruentas well as similar

AABC WS ADEF W, 4B =ZELF=<C w 4B =3DE, @ M B

F . |
(a) wahme Sfhd W T ‘
(b) gy SfeT Tames T
(¢) + d watmEm SR 7 € e

(d) welmEd T §HEd gl
AT eds Ui 4

E N £ JLF = £C JDEFJ}'ABC&-&
,.,L"f/.'.; JQ tf = (2
S st e ®

S g ted ©

u;».j U sl 24 (d)

86. If four vetices of a parallelogra'm taken in order are (-3,-1),(ab), (3, 3) and (4.3

Thena:b

@) 1:4 ®) 4:1

© 1:2 @ 21

o fedt iR =S P o o e (<3-1).(ab), (3, 3)W@ (43) F A
a:B E’Frl-

@ 1:4 () » %l

) 1:2 (d 2:1
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o bI a0, 0) (3D LA e Lz

4:1 (b) 1:4 (a)
2:1 (d) L2 (g
87. 1f25in20 = \3 then 6 = »
(@) 30° (b) 45°
(c)  60° (d)  90°
AR 25in20 = 3 T g < 9
(@)  30° (b) 45°
(c)  60° (d  90°

) 25in20 = 3 ]

30° (a)
( 60° (o)
88. On increasing the diameter of circle b 0 its area will be increased by:
@ 40% %
(©)  96%

(d) noneof these

(c) both (a) and (b) (d)
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90.

@mﬁmwmmn%%mm_

@ 3 ORI
© @TWOA (d) =

K / - 1—39 (',f'(ReciprocalJ:J lul:ﬁugi
1
3 (b) 3 (a)
Jj é;( =l (©)

term, is equal to -36, the sum of all its terms, zero and the
difference of the tenth and the sixthterm ise 3 irst term of the series

is:

2, offtm ﬁmms@%ﬁnloﬁﬁﬁmmm

16 & -
(@ 15 (b) 14
© 16 @ 17

S S92 o s FTn-36G S W YR IR RPN R

Cod
eNo.S-13/ SET- C (43)

:Jﬂw&{'JﬁwQVJ';ﬂ—l6&}(@50(1‘5‘:/)!@,&’)/5!}4}’5'
14 (O 15 ()
17 (d) 16 (0




-

9L If the angles of elevation of a tower from two pints distant a an

db (a>b) f")m;
foot and in the same straight line from it are 30° and 60°, the

ts
n the heighy of th,

tower jg:

@  Ja+p (b) Vab
©  Vap (d) %
R C O o T Y LIk

ﬁgﬁaqa'b(aﬁvb)aﬁ{ﬂw‘v‘ﬁ‘ﬁ%@ﬁfwﬂ
ﬁﬁgﬁﬁmﬁquﬁem%a‘rtﬂmﬁ ?-
@  Ja+p

&
© JVap
@ [

60°45130° 2 I = (a > b a )b s/ 450 ng‘].LJ’,MKdAJJU:vg’;'

ZJﬁJgJIJJl}:;w
Jab ()

Jatb  (a)
5 @ ab (0
92. ence of a circle INCreases from 2, 10 47 then its area the
(b)  Double
(c) Three times (d)  Four times
Ifz f&dt g 1 wfify 5, T 4, B}ma}mmt@mm
_ ws
(a) 3m (b) <
(c) @ T (d) ==y
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93.

94.

) ,_:_,JJJII,?/(J’;‘LV@/MH /pkc_ 27 (Circumference)l:g’Jd_berﬁ

& ®) ol (@
S (@ S (O

Four a frequency distribution, mean, median and mode are connected by the
relation:

(a) Mode = 3 mean - 2 median
(b) mode = 2 median - 3 mean
() ~mode =3 median -2 mean
(d) mode =3 median + 2 mean

& IOERdl Sed & fau e, nﬁwqaagamaﬁaﬁa#ﬁu%—
(a) TEE® = 3 EA — 2 HIeAwH |

(b) dgoh = 2 HifeaH — 3 HEA

(c) wgeis = 3 HIfedshl — 2 WA

(d) wga® = 3 Wifede + 2 HiEA

: -.;.;%uﬁm:gw/n;yuu:dwi&.»ﬂ.{l

o3 - A92 =34 (B) b2 -3 =ty (a)
el 3 =iy (d) a2 -3 =3 (0

A cylinder, a coné and a hemisphere are of the same base and of the same height.
The ratio of theirwolumes ia:

@ 1:2:3 (b) 2:
() 3:1:2 (d 3



€7 Ll £ Qi ot 5 5 i S it by S0P E LI FIS 065

-.g)'f.._/k:
2:1:3  (b) 1:2:3  (a)
3:2:1  (d) 3:1:2 (o)
95. 1f a,b,c,d,e and fare in AP, then e — c is equal to:
(@ 2(c-a) (b) 2(f-d)
(©) 2(d-o¢) d d-c
fg a,b,c,d,eTd f mWﬁﬁﬁT‘e—c qIm-
@ 2(c-a) (b) 2(f-d)
(©  2(d-0) (d d-c
K e—c)Iy ¢, d, eI
2(f 2(c-2) (a)
2d-9) (9
G6. If the L.C.M of two numbers is 3600, the ich of the following numbers can not be
their H.C.F?
(@ 600 )
() 400 (d) 150
RICSCUR! (LCM) 3600 ® @i Frefafag o @ $F &0
ITH Tl & Thdr 2
( (b) 500
(d) 150
(VFHCFEU AL 0f & Ut 20007 2 3600 LOME s s
500 (b) 600 (a)
f the quad 1 B0 @ 400 (¢
97.  If one zero of the quadratic polynomial x* 4 3 .  : e
(@) 28 () -28 Y + k 1s 4, then the value of k is:
B 7 (d) -7
qﬁma@:.f +3x % k mw‘\’ﬁ4‘§?ﬁ kmqﬁﬁm
(@ 28 (b) -28
& 7 @ -7
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-Jﬂ.:«:jd/kiéA/"ug(xz +3x +k :J:L/J./m//l

-28 (b) 28 (a)
-7 (@ 7 (o)
98.  The sum of the digits of a two digit number is 9. 1f 27 is added to it, the digits of the

number get reversed. The number is:
(@) 25 (b) 72

6 _
ﬁa’ﬁ'aﬁ@#@rﬁaﬁmmﬂ9%mﬁwﬁz7sﬁgﬁmmaﬁmﬁ
3% I TR & T8 WEA B-

(a) 25 (b) 72
(c) 63 d) 36
el Ao 31627 E U1 9T Ur #e U

72 (b)
36 (

99. The number of real roots of the equation (x-
@ 1 (b) 2
(¢ 3 None of.th
aEwr (x-1)° + (x-2)" + -0 & el GE -
@ 1 2
() 3 T | Wi Tl

- (x-1)" + (x-2)* + (x-3)" = 0=lsl~
2z (b) 1 (a)
3 (o)

=y (@D

/ | \\
100. BZ : :

In the figure given above; AD = x, BD = 3x+4, AE = x+ 3 and EC = 3x + 19. The
value of x for which DE || BC is:

@ 4 k) 1

© 3 @ 2
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I/A\\ X+3
v/ \E

xee /. N
b A M M F AD = x,BD=3x+4,AE=x+3 T EC=3x+ 192 x F1 78 7R

fsr® fow DE || BC =rm-
@ 4

(b) 1
() 3 d 2
A

LR ASXEC = 3x + 19.5/AE

AD =x 409 6’ a4l

-€«DE || BCZ
(b) 4 ()
= 3
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